A = O & W9 A

HaRe =2 2 3
S A EIOEYHE - SOIEME
3 A g LB CEE:ED)
SN -EH o9 HT - B2 Ofl &k o4 IIE Ol o HRE2 A E 2
= 28,305,281 28,234,581 70,700
SOl el 28,305,281 28,234,581 70,700
oUbt AT XA L 2Y 27,865,503 27,797,503 68,000
UBHAFQIEHT] X4 27,865,503 27,797,503 68,000
M1 EHA I EHR] XA 3,160,760 3,302,760 A 142,000
401 AlEHIZ S| 3,160,760 3,302,760 A 142,000
56,000 198,000 A142,000| 03 E X0 HI A 142,000
OYYUDH UBAACHT] B2 Z2HEBAF EX <L X
2= AH(1,100)
ZA 160,0008 %350 - J|F 198,000,0008 = A 142,000
M2 AR EHE| X A 16,330,816 16,290,816 40,000
401 Al HI2 S OHY| 16,311,012 16,271,012 40,000
63,000 23,000 40,000 (06 Al& S CHHI 40,000
ORYBHACIN] TYT 2 2E =24
2E 45,000,0002 - JI& 5,000,0008 = 40,000
M3 BHAFA BT X4 607,400 707,400 100,000
401 AlZHI2 S O] 600,000 700,000 100,000
250,000 350,000 A100,000| 01 J1=E A H I 100,000
O U0t FYUBAIACHT| 2BHTHAIZ (2 2) =X A
SOIH BN Hxmy o= - J1F 100,000,0008 = 100,000
2K P TAIMLAIY THZA 4,594,311 4,324,311 270,000
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